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No work, No credit, No kidding!

Percent Yield and Limiting Reagent Test A
A student performs a chemical reaction by reacting sulfuric acid (H2SO4) and aluminum hydroxide. The student heats the precipitate to evaporate the water and records the final measurements.  (The density of H2SO4 is .95 g/mL)
	Mass of empty beaker
	97.63 g

	Mass of beaker and aluminum hydroxide
	98.10 g

	Volume of H2SO4 used 
	3.00 mL

	Mass of precipitate and beaker
	 98.85 g


A.  Write a balanced equation for the reaction.
B.  Determine the limiting reactant for the reaction.

C.  Calculate the percent yield of the precipitate.

D.  Determine the mass of excess reagent that remains.

2. Given the following reactants, predict the products and balance the reaction:

 (NH4)2SO4 + Al(OH)3  (  

A.   If the above reaction is started with  0.95 g of ammonium sulfate and 3.50 g of aluminum hydroxide, what is the limiting reactant?

B. Calculate the mass of ammonium hydroxide produced.
C.  Calculate the mass of excess reagent that remains unreacted.

3.  A student used 8.75  g of cyclopropene (C3H6) with excess amounts of ammonia and oxygen to produce acrylonitrile (C3H3N) and water. .  The actual yield of acrylonitrile was 3.38  g.  Calculate the percent yield of acrylonitrile.  Balance first.  All subscripts have been done for you.

C3H6 +   NH3 +   O2 (    C3H3N +   H2O
